
· / :l 

E::S 33...2 J-!W / O:50J-N 

PI././ (c) -;] +-j"3 ~ 

-1 

j\I\ ~ -If2Y~ (-3J2 ~ -113 1 

o ~ I-ClY") -1(7-..2) = J, / 0 ra d = 123.7° 

be. co 
l' 
re!:../ 01}uCicirorif 

-/-/ (P 
d 

Co,", odd 2 11'; 3(,0 0 '{''1'''::J1es 

" J fl.'" "I.55rod) ./00.5° 



ES33.J. IIw /0 SOl-N 

Pi.'1 

P1f. 5 (e. ) 

A, +A= lje.r!Jf. I- ;Je-j 90°0 

::: J.j (c.as1.fS rl.. S"h fS') -I- .J(cos f'7 Oc) +,; ..'5'111/- ))0°) ) 

~ f(~ fj %) +-2/0 - j) (/ 
= ()fY + 0) +i ( 113 -:2 ) 

= :Jf:f + i (;)(0- /)) ::= :2. 83 + l 0. 83 
" C' 

http:c.as1.fS


• • 

£:533 2 


DE 1.0 


mesh aYlCl YSls 
o 

~ ~ : -.5e.12/J j50~ + 0' )00 t XX))(i; -t )=,0
0 

~ ()OO ~i/so)i, - r:OO-tjJO})i; =~io?2i:)))( Y$ 

~ ( fO +y 30)I; - (if0 :ifb') ~ = Ie: "! 

e~ : (JOO + i]oo) (iL -i,) f f8:t := 0 
/ C ~ A A 

~ - (;Jca ;;:/(:;0) I/ + (21f8 7)00)72 =0 

~~~~_~---i- = 273.1 ~i 73.2 := Q 0 0$7 ;) O. 028 I 

37)0-:/560 '0 'ICYI /<Q ,0 
:= O. 071'-/ e/' :; O. 0 7 FI L6A-L­

. ' 

/2' (I) = () 0 7/'/ cas (fit 2 3. /0) A = O. 0 7/'/cos (,/f + o. fO'!) Aof­



/-=-;533c2 

P% 8 


.Yo (f) = 10 .30 cos (2 f - /0 .83 0
) V ~ 0.36 cos("?; - 0.189) V 




/1 ~v / / ~.L/'y/ 


:=: j w(kt) + 8 
frjw 

= / ul( X;) r 32-iw8 
(7 /0 f V) :J. 



: ~ :: -j '7!j~:= -j / (;30 mJ°) = -5 8'-1 +j ().25J./ VA 
-	 v 

~..tt res /s lor : :i.=j ((,1;)3:> j/,, ],' 03(;3/= 507 f-j 0 VA 

R:5.07~ Q{ a VAR 

-)3 co~c/lor: .:i =-J,(;pYi; -It)!1; -it 	 ,/ 
- = -&(1. 3Q&JJ- J, 2JfL;i§J1~X13~- !}1/ 690) 

c:o 0 - / 0.252 VA ~ "f= o w, Q~=- -O.2S2VAR 
~ 	 ­

de SQ~rce .' 	 -i=j (J~y-J;j: j()X23'j~ -~ y-~J/f 	 :: +/ 3 ( 1-30!.M1°- /.2'1 ~ )II)'/ jls. <J )¥­
~ -/. 52(; 	-i 0 . 0238 VA ==;> e -1.5.2(.; W; Q =-0.0238 VA!< 

j * 

3-iL re&fs lor : ~= J (312.Y~* ) ~ ~ ~2. 
-= 1 (/, 2Jf) ~ = 2 3 1 7- j 0 VA 

(j ~ !f. == 23J '0< Q~ =OVAR 

1101 ret <Alred) 6u lrod cJ. n k. is z:S = .c; P / .:8Q =0 

'&p: -5.8'-1 I- 5.. 07 + 0 - 1520 f .2~3 / =~~o 
f"O~nJorr [ovn iJ -:Z 

, '---­
, 	 ~ 

zJQ : 0 .251 -/. 0 - 0 .252 -0.0238 +0 = 0. 022 ~O 

http:1-30!.M1


ES33;2 


PfJi '" . 
~ Z= /8 -/f5 JL 

= ~O. c105~o 

II

Io.- -=: ¥=	250 fff:}Q° = 3. /3j~ 0I8I(O = 3.73 c7 G-oJ A 
78 ;/15 

I aIb := Vs.2 = J50f3~o = 3. i31 -&G" = 3. /3 L C/ . J/ 8 A 
2. 78 ":/'15 

Ie.. = YsI:: 	G:z =0 J5{){2i::Jt:f- 2'"fJfi~ =: 3. 93 ~" = 3. 73 e)I'0'1 
7 A 

2 	 78;;15 

~':3~li~ = j(?50{2' BIJ)(3.93~Qr ~ (pal.). - iJf0,8 VA 

-9 £:: 00/. .JV/ d Qg=- -3f6.8 VAR 


.5 b:: j ~J~~ ~ i (JsJJ£l2Y3 J3 c &ooot' = ~ O/.:2 - ;" 310,8 VA 
9ft;: (;01. ;;1(.11 Q o = -31'0.8 VA~ 

~ ;; j (~l - ~2)i;=JI.mi1.&1'-1:lJi7CJJ )(3 JJ&Qa)~ 

- : 60 / .1 .-;;i3 f 0. 8 VA ~== ;= a/. 2W::i::J=~= -=~6. 8 v'A=
",I:}c:.= 0==== Q -- =3=~~=R 

)~! =-.1 ~! i; ff- =-j \Is, ( I: .fi y~ =-j-psalYhtOy3, ?3 (-O.la£O+ 3 ~3 Mtl))* 

=- ?pO /.f r-/l aiO.? VA 
~4 =-~ot4W; &, = / Of/ VA,R 

A A 	 .... * _ I' ( "" A ~=-J \&2I 2 :: j .VS2 +-I,,-LJ -= -i-QSJIl~{)X3. ~3 L:J~d _ 3. 9j&),Yf 

= -/202, 1 - i 38. 5 VA 
d ~ &,,;: :-/..?a2 W' Os?: -38.5VAg 

ff 



£:5 33.:2 

--------.I 

IY! / /: -y,> . ) /fJh.12 ._ 
j -db /-fj I;; 

~ ­/12 
=0.2-)0. '{.IL 

.f !lt; ::.!..:J.3­
/ I- Y'I S 

5)JL :: J (3i )i¥r = 1(f5t = 75 +iOVA 
---- d 

=9 : ;f~ : 7.5~ Q,4 = 0 VAR 

~c j y)i) j" =(is)j' = 0 i 5VA 

=¥ /j; O~ Q, =5VAR 
ii' 

A ,... ~ )~ / " ) A 7f ~ = i V( 0 =:2 T ( 2-;,1 (7 ( 2-;, Lj)) 
- d jd 

= ; (.2 2 +. lr)I5'L 

~ 0. 5 Va VA 9 8-'1. = J.5 ~ Q /A "OVAR 

~ S ::= ~P"')· .£O =-Ov 
:.1 



£:533.2 	 f!W 13 :SOLN 

/:J "If:J. 	 Ve = / /s Vr~s J I:: 6 0/-/z J P =500 w') ;D/~ O . 7S/~ 

p ;: VeL cos8= VeLrf 

~ k = p ; 500 = 1.58Ar~s 
lIe;Df (JIS)().lS 

P 1.13 Ve :: 220 Vr~ $ / -L =;;OArffls / f= b O)/2 .J p= 2200 'W 

(0.) p= 'Ie Ie ;:;1 ~~= ~ ; 2200 = 0 .,5 
~ Ie (2.JO)(20) 

(b) Qtn = 	 Ve I e s ;'n e = Vc L Sin ItGos-1(s)) = (:)JoY20)s/n ( J. ()1 7,-cd)
'f 	 ~ 

mol-or = 3 8 / G. 5 VA R 	 ~o 0 

WOy,! !o Ie. / Q (elmo kr) fo ~e 0 = Q ;;: G"", + Qr­
c.-c.f:> 

2;Wo. ;'Jf Q,-	 ::-Q...... = -3810 .5 VAR 

~ C == Q c. = -a., ::. +38 10,5 
- -w Ve ~ -w 1Ie :t -f (2;r ·~O)(J..70) ' 

:= :2 071</0-'1;= = 207"u. F 
.. 2 

http:JIS)().lS


)!W 13 SQL.N 


P -1. 1'1 Ve =: 22oVrn"lSJ 1'= GO& ) L == 20Ar,.-,-s rJ'= Q75 lev
J 

(a) E:; V~ L cos e :: I!L rf.:: (;:2.0)(20) O. 75 = j, 3 CXJ W 

(b) 	 Q"" = t{ Ie Sin (J :: Ve Ie S in (C()s-I (0.75) ) 


:: ~)O )I.70)SII, ( ()t 723r-oJ) 

~ 

'1/. ;.;0 
= J710 liA R 

w q Y1 I- 1-010 / Q ( C f rna ~r) = 0 == Q WI f Q c. 

:=9 Q( ::: -QVY' = :79/0 VAR 

~ C = - Q c = QrYI = :1'1/0 
= 4J \Ie 2 0 ~~ (J /r ·lcOY220Y· 

= i S 9SXIO-'IE = /57.Sp. F 

Pi.}. '18 lie = 220 Vrrns) L :. 5AI'~s J r ! = (J ~.5/c:J =~ 6 40,5-1 (9S) ::;C Q.3/8roJ = /820 

(Q) -5::: lie Ie L(L = (,):20 KS)L&2 ° = // OOd&2"VA = //CDejO, leVA ::; /0 1/5+)313 ~ 
-	 0 

(c) a : I-.J.sJ or ;:; lie Ie S in 8 :; j f3 VAR 

(01) ill= Ve Ic ::: I /CXJ VA 

(e.) i := ~ = \Ie ;&~ 	 .220!.m2° ~ "If 1/8.2°JL -= -91/ e,/o.3/8 J.J.... _ ...;t..t!. 

- Te -le. 5 
-=- Lj/. 8 +;' / 3 . 7JjJL 

(J' 


